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31 dwpwmp 2020p

Uhypn Ywughmwy <wjuwumnwi AFY @LL p.Gpluwb, Qupniywi 8 phy 1 mwpwdp

wnluwyhb Yugiwybpwynipjwb whjwbnidp b qunbytipne Jwjpp)

{wptinnm ‘Lwlunpn wwpyw
uLJduuvnrur dwiwlwywypowl ytipg
UlywunhyGlp
Apwiwlywl dshongGtin L pwGYwihG hwohyGbp 45,026 50,318
Cwhnyp/AGwuny Yytpwywihynng hp.wpdtipny hwyy.
dhG.wlhnhyGtip
Pwlybpnud mbtinwpwfujwd dhongltip
Opuwdwlw onijugnid wyp mbnupwofunuiGtin
LwdwhinpnGbphG wpwd Jupybp b wyp hnfuwwnynipniGGbn 1,555,843 1,468,720
bpuyw wpdtipny” wy hwiwwwpthwy phliwGuwlub
wnnnilph vhongny swihynn $hlwlGuwlul wlmpyltip
U1 gnpownGnipniGGtph gony unwgytijhp gnuiwnplbp
UhGsL dwpiwl dwiytimp wwhynn GipnpnuiGhp
Jwpdwlwinipju gony unwgybijhp gnudwplbp
‘LhipgpnudGhp wy widwlg JuinGuwnpuuwl juwhunwmnod
Guuhwuwy GipnpnudGhp hhdGuwlwl dheongGtipnid b ng
(jnipwlwl whmhyGbpnid
LhdGwlwb dhonglbp L ng Gnipwlwl winhyGtp 16,809 17,810
Oquwgnpodwl hpwyniGpny wlwmpyGip 11,127 11,127
Zhnwégud hwplwihG wynhyGbp 8,191 8,191
Uwnwgytijhp mnlynulbp
U1 wywmhyGhp 8,350 5,191
Llpwdbln wihmhi]Gbp 1,645,346 1,561,357
MwpwmuwynpnipymGGtp
Pwlybphg unwgywod thnjuwnnipniGltp L Jupybp 234,152 195,940
Apwdwlwi onityuwihg unwgywd wy thnjuwnnipinillbp 842,680 794,719
{JwdwfunpnGtiphg Ghpgpuwydwo hnfuwnnipniGGtin
MNMuwpuwynpnipjniGGtin £ unwjwpnipjul Giumiwdp 1,280 3,458
Jwpdwlwinipjul qony ywpuwynpnipjnil
Hwpluwjhl Yuqiwlipynipjwl ynndhg pnqupyywod
wndtipnptip
Mwhniuwnlbp
Jawnybihp gnudwpGhip
Lbtnwdqywo hwpywihG ywpumwynpnipniGitp
Jawnpybihp wmnynulbip 7,641 5,843
U1 wwpumwynpmpniGGtp 13,010 10,776
Llpudbln ' quwpuuwnpmip o GGGn 1,098,763 1,010,736
GQuuyhwmuy
UwlnGwnpwulwb Juwuwhumwp 570,000 570,000
Mwhniuwnlbp
9-jluwynp wwhniuwn
Jhpwqliwhwndw( u{Luhmum[ihn
Ununwljwo pwhniyp (23,417) (19,369)
Lhnwdbln’ wwhuwy 546,583 550,631
Llpudtln wwpumuw/npnpym66kn L juyhuowy 1,645,346 1,561,367
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Qwiwwwpthwly dbhlwluwlwl wpnynGpGhph dwuhl

31 dwpmh 2020p

Swybyws 6
Uhypn Ywyhnwy <wjuunwi AU OLL p.Gplowl, Mwpniyul 8 phy 1 mwpwodp
(Qunpyuyhl quqiwitpynpyul wiguwinuwp b quoGtne uypp)
(huq. ) (hwquip ppud)
{wyytinnt ‘Lwlunpn {wpybtwmnt  [Lwlunpn
nwnpyu nwpjw Gny6 junwpju nwnpju
ulqphg dhGsl  [dwdwlulw  fulqpehg ulqphg
hwpytmnnm nowlp dhGsl uhGsh
uuduunrue wiuwphyp hwpytinmt  |Gwlunpn
wduwphyp |[mwpyuw
GnyG
dudw ulw
2ngwin
Snljnuwjhl b Gdwlwwmhy bludnunlbn 75,152 18,768 75,152 18,768
SnlnuwjhG L GiwGwwnhy Swpuubp (42,802) (260) (42,802) (260)
9nun injnuwjhl ljwinun 32,350 18,508 32,350 18,508
Cwhwpwd(h wmtupny tludnunGbp 0 0 0 0
UndhuhnG L wy) ySwplhph wbupny Giuwdnunlbp 28,553 14,593 28,553 14,593
Unudhuhn( b wyp ydwplbph wbupny dwuubp (445) 0 (445) 0
Cwhnyp/JGwuny Ytpwguwthynn hpwljwl wpdtipny hwpjwnynn
(itpnpnuiGtiphg gnun pwhnyyp/ (Guwu) 0 0 0 0
bpwlwl wpdtipny wjp hwdwujwpthwl phlwGuwljwb wpnynilph
dhongny swihynn hGwluwul wimphylitphg gnun pwhnyp/ (JGwu) 0 0 0 0
Uh6sL dwpiwl dwilbunp wwhynn Gipnppnudtiphg gnun pwhngp/ (JGwu 0 0 0 0
Upwnwpdnipwhl gnpdwppliphg unwgywd gnin pwhnyp/( Jawu) 3,126 1,851 3,126 1,851
U1 gnpownfwlwl bjwdninlbp
Qnpowniwlwi tiwdnun 63,584 34,952 63,584 34,952
Jwnybphg b wjp hnfuwnnipniiibphg wnwewgwd Ynpniunlbp (28,180) (3,367) (28,180) (3,367)
Lnhwinip yupswlwl owhiubip (19,880) (18,093) (19,880) (18,093)
Ui gnpownlwlwl owfuubip (19,572) (17,145) (19,572) (17,145)
0 0 0 0
Cwhnyp dphlsL hwpyybp (4,048) (3,653) (4,048) (3,653)
Cwhnipwhwplih gony dwjuu Ahnfuhwwmnignud
Cwhnijp hwplynuihg htimn (4,048) (3,653) (4,048) (3,653)
Ujn pynud 0
Uwjn jugiwtpynipjul pwdibywu 0 0 0 0
Qytipwhuljyny pwdlbiwu 0 0 0 0
U hwiwwwnpthwy phliwlGuwlul wpnynilp 0
Onfuwpdbpwhli mwppbpmpynilibp wpnbplypyw gnpowninipyniGitph
YJtpwhwyywplihg 0
bpwlwl wpdtpny wj hwdwwwpthwl phlwluwljul wpnyniliph
vhongny swihynn phlwlGuwljwl whmhylbph yepwglwhwnndGbp 0
Qpwdwlwl hnupbph hbowynpnud 0
(13 pipwghy wliwnhyGtph yhpwglwhwwnnuilbphg ognunlhp 0
U hwdwwwpthwl Gjuwdnunh gony pwhnipwhwnly 0
U1 huiwwywpthwl phlwluwjul wpnniGp hwpynuihg htwmn 0
Lwdwwwpthwl $hGwGuwlwl wpnniip (4,048) (3,653) (4,048) (3,653)
Ujn pynud’ 0
Uwjp qugidwlbpynipjul pwdibdwu 0 0 0 0
Qytpwhuljynn pwditdwu 0 0 0 0
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Apuiwlwd dhongGtph hnuptiph dwuhl (U 9)
31 Uwpwh 2020p

Glpwhunfbpfuo 9

Uhypn Ywuhuw) <uyuunwi AFAY @R p.Gplwl, Mwpnljwb 8 phy 1 mwpwdp

(uplwhl Yuqiwyipynipjul wijwinwp b guiybn Jwipp)

(g, gpunt)

Capwghy wwpjw  [Lwlunpy wwpjw uyqehg
u Whsk hwpytwnnt Whsk hwpytnn
uuvduuvnrue quhgm\?u\iphlmz ! ' uzniuux;[llllm
1. 9pwiwlwl ShongGtph qnin hnuptip gnpownGwlwl gnponiGnipyniGhg (81,903) (274,247)
Dpunfwilpul dhongGbph qnun hnupkp dhlsk qapownGwlpul wipmpyGiph b 21,114 7,796
wwmnunlnpnip/niGGhph impnfunipynilp
Uunwgwd winljnuGbp 65,722 19,138
dwnwo wnlnulikp (41,117) 0]
UnpniuwmGiph ipwljwqlnid
Uunwgywo pwhwpwdhitp
Uunwgywd qnun YndhuhnG gmiwnpltip 27,789 4,839
JEwpwd wpfuwmunwpd b gpub hwwuwpbgyuwd wyp Jewpnuilbp (19,716) (11,903)
LGwnwo hwplitp (11,564) (4,278)
wyn pynid “pwhnipwhwply
Qpwdwlpulb ShongGhph quun hnupbp gnpownGuipul whmpyGkph b ywpmwynpnipnibbiph (103,017) (282,043)
hmpnfunip/niGlGphg
Stinupwpuwd dhengltiph Gwgnud (uybpugnul) (90,417) (271,899),
"Ltpgpunfywd Jupltiph wjpugnud (Gfuwgnud)
Cwhnyyp/AGwuny Yepwywilng ppujuwl wpdtpny hwyjwnynn wpdtpnptiph Gfugnud
bhlwuwlwl Jupdwlwnipjul ghiwg vnugytiihp gnudwptip Gugnud (wifjugnid)
A-puidwljwl ShengGkph qnun hnuptip wyp gnpdwnbwlwb gnpomGtnip niGhg (12,600) (10,144)
2. dpwiwlwl thongGtiph gnun hnuptp Gipgpnidw;hG gnponiGnipynilhg (165) (5,380)
Winpwhqugywo wpdtpny hwyjwnynn wpdpnpbph Gwgnud (wytijugnud)
U widwly ulnGwgpulul uwhuwmnod GipgponudGiph Gugnod (wybpugnod)
hdliwlwG shongGpnid L ny Gnipwlul wljwmpGbpnud fuyhuwy GepppnuiGliph Gfwgnod
(wtijugnud)
<pdGwlwb Shengtph L ng Gynipwljpub wlnp|Gtph dtnpplipnud (165) (5,380)
<pdGwljub ShengGtiph b ng Gympwljpul wijpmmp|iph owmwpnid
A-pwdwljwb dhonglGtiph qnun hnupbip wyy GipgpnuiwghG gnpondGngpniGhg
3. dpwiwlw ThongGtiph gnun hnupbip hGwGuwlwb gnponiiknipyniGhg 77,341 89,839
dawpjwo ywhwpwdhllbp
Lwllytphg unwgywd Jupytiph wtjugnud (GJugnud) 32,848 90,000
Uunwgywd wy thnfuwnnipyntlGtph wjpugnud (Gfugnud) 44,493 0
Qwplpwyhl uqiwpynippnGGaph Yngdhg pnpuplpwoe wpdtpnptiph wipugnud (Gfuwgnid)
PwdGbwmbpbph GipppnuiGpp julnGuwnpuiul hhdGwngpudnd 0 0
Dhbwluwlub Jupdwlwimpju gony yéwmftihp gnudwpbtiph wytjpugnud (Glugnud)
Apudwlwl dhengGliph gqnun hnuptip wyp phlwluwljub gnponiltinipnilihg
Upwwpdnyph thnfuwpdtiph thmpinfunipjul wqnbgnipynilp gpuaiwljuG dhongGipp L nputg (565) (161)
hwidwpdtpGbph ypw
Q-pwidwlwl ShongGph qnin hnup (5,292) (189,788)
Apuiwljwl ShongGhp b npulg hwiwpdtipitp dwiwlwluwypewbh ulqpnud 50,318 217,210
Apwiwlwb ShengGp L npwbg hwiwpdbpip dwiwbwljwypowdh Ytpgnid 45,026 27,422
Qnpownhp mGoptl Tu. Ltipjupupyub
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«Uhlpn Ywyhinw) Zujuunuty AU OLC-u qpuiigl) b hgkuquunpyty £ 22
Yp-h ynnuhg 22.06.2018p.phy 99 U npnpuundp, gpubgdwt hwudwp phy 46,
gqopédnid E p.Bpluut, Mwpnigui 8 phy 1 mwupuspnud:

Juplught juquuibpynipyut  hwyquyuhwlwi  hwpjundwb  Jupnudp b
hwoybkwnynipnibiph  Juqunulp  hpufuimgdnud L “Zupuyuwhwljub
hwoyuntwt  dwuht“ 22 opkuph, 22 Uhowqquyhli uwnwbnupnbbph b
huwyquywhwlwt hwyquenudp  jupgqunpnn hpuwjuwlwl  wyp wlnkph
hudwdwygyt:

Zudwdwy 22 Yknpntwut Futhh Ynndhg pipnifws «Guintwlupg 14»-h
12! Ytwmh b «Uhhpn Ywyhunw] Zujuunuiy A9 OFC-h thnhmqpmp]ulh‘
Uhypn Ywyhunw) Zuyuwunwby AbdY OACL-u hpuwwpuljughtt obkpinwtiph
Uhongny thnjuwenipinibubp sh tbipgpudnud, ntunh juqlulbpynippui Jpu sk
nupusynid «Chinhwinip juyhwwh b phulng Yorjws wlpnhjubph gnudwpttph
Uhol Wjwqugnyt hwpwpkpulgnipmiip (L1 tnpdwnhy)», «UkEY thnjuowpnipjub
gén] nphujh wpwybjugnyt  swihp:  Zwpykunt  Epwduywlh  phpugpnid
unpUwnhyutiph fpwjunnudutp sk qpuatigyby:

Jupyuyhtt juquuibpynpoiap - wpudugpmyd £ phqubu & dhljpn qupltp
hpujuwpubwlui b $hghjuijut whdwbg' gpuyn] b wpwbg qpugh: Swpltpp
npudwgpynud tu 11-22% wwpbjub winynuunpnypny,  6-hg dhbigh 72 wdhu
dwpdwt dudljEwnny:

Jupuyht juquuipynipjut dwnnigynn swunuynipniuibph wuydwbikpht b
hpuywpulyny $httwbvwu hwpdbnnipniiutiph wdpnne thwpbkpht jupng
tip Swiinputiu) Juquulpynipjut hunbkpubunuwght Juyphg
wwww.mikrokapital.am

dwpfuyht juquulbpymppu - wpluwnwlhglitph - dhehlt - gmguluyhl
pYupwitiwlp 2020p 1-ht trwdujulh npoipjudp juqut) k14 dwpy:

Juwpljuyht Juquuljipuynipiniup JEpuwhuljynud E Zujuunuh
zuipuy bnnipyut Yknpnwlwb putlh §nnuhg:
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